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Bwp | —>Ar

Sepr/ahim o e pum e e Ldryigetf / Qﬁ)}ﬁu‘y’u:"f e 2Pl eaD (CB A ML iy g &g
) -b’nzr‘?w.,«litu:(lg}fpu’JL/}'f&QLJ’/,:(u;/'buUc.—.g-gj__:/c'_d'_l,—

Note : Four choices A, B, C, D to each question are given. Which cholce is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or mare circles will result in zero mark in that question.

@ S ® a2 (© a-b @  aPpHEN

Express 7:61x 10" to Ordinary Notation : : SndpulT.61x10% 1707
(A) 7610000 (B) 76100 (©) 0.00761 (D)  0.000761 ®

The Valueof i'% s : : ﬁ-.,_.__..:,fd/ i @

@ -1 ® 1 © = (D)  +i
¥ B =[_: :ﬂ then — 2B will be :fneif-2B7 B =[_: ::] RS

w [3 g] ® [T 2] © [1-: :g] @ [ 8]

(Va? +Vb®) (Va3 - Vb isequalto___: . e 4ANaE + VB (VaZ -Vb3)| @

\ .
x = 0 is a Solution of the Inequality : i 4.?41-_--.-»,&,- A x=0] (5
0>

A) x>0 (B) 3x+5<0 (O x+2<0 (@) xg
: 4.-..--5/1/157( a2-2a+1| (6

The Square Root of a% — 2a + 1 is : % )
4) +(a+1) @B +(a-1) (© a—1<\(l(§79 a+1

Find ‘M’ so that x° + 4x + m is a complete Squar :@\'}?/Z_(gui&/d’f x2+4x+m41_£:—fg/gf m, M
@ s ® -8 (© 4 A\% 16

Point (2, - 3) lies in the Quadrant £ ~{\ e SBLS 2, B @

@ 1 (B) 1 I D W

In a Parallelogram Oppositeh\l\g\?c/s are ¢ S At LW S5 | (D)
{€A) Congruent S (B) Equal i«

(C) BothAandB (s B sl A (D) None of these u.'."” i J/

The Symbol of Congruentis _____ ¢ : :l;.JMJb"’l:/lkq’.‘CJ‘l}" “aom

w = ® = ©© #F O <

Distance between the Points (1,0) and (0, 1)is f e il 80, 1) 4t (1,0) 58| (A1)

W VvZ ® 2 © 1 O o

P P - B :Lu’lﬁt{l‘/)/ Lgl/,b‘;ﬁmf I it oF A Jr 12
Right Bisection of a means to draw a Perpendicular which passes through the Mid Point of Line

Segment ¢
(A) Line & (B)Ray {2  (C) LincSegment k55 (D) Angle s

A Quadrilateral having each Angle of 90° is called P +811zf ..... n 90° i £ K UF Sz Ll (13)
(A) Parallelogram {Ueuié)1# (B) Rectangle S (C) Trapezium js3 (D) Rhombus v

: u:rJn ..... u:;;dteubu.‘-wdﬂ?duwﬂ o 81, 4 Us4 414 14
Parallelograms on equal bases and having the same (or equal) altitudes are inarea :
(A) Unequal 146 (B) Equal 4 (C) Congruent S (D) Similar 4lia

Similar Triangles are in Size : f LA e ST P LEIa | (19)

(A) Same (¥fl (B) Parallel y1»*  (C) Different ¥ (D) Equal 4«

.....

[ase o
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Note : it is compuisory to attempt (6 - 6) parts each from Q.No.2,, Q.No.3 and Q.No.4. Attempt any (03) questions from Part Il
While Q.No.9 is compulsory. Write same Question No. and its Part No. as given in the Question Paper.

36 = 2x18 | Make diagram where necessary. o S A1 0% (Part—D 3l >
Find the Additive Inverse of given Matrix : A= [ _§ g ] : ér)”d)é‘df V,JG'ZZ_-,-: (i) 2/Ur
M simplify : 4/6ax5 y° L2 A (i)
Evaluate (-4)8 D ghpdead (i)
Write in the Form of Single Logarithm : 2logx-3logy : : éu:(f’p((yjb‘) wly (IV)
Find the Value of ‘X * from log, .5 = % x : i X e U log, 5= % x (V)
Define Surds and give example. Z=s 8 st/ e e (vi)
Ba(x+1) A - 5 e 8 as
Reduce to the Lowest Form. 202-1) Gl rPyi (vii)
Factorize : 1-642° s & (viii)
Factorize : 8 x*-40 x + 50 <<§/ c 27 (ix)
<&

Find the H.C.F of : 39x’y'z , 91 x°y° &@ e P () 34U
Define Linear Equation and give an example. @O% ZEJeLim S enbed” (i)
Solve the Radical Equation. X+3 - > S ek (i)
e b ¥y (iv)

Draw the Graph of Line. X
Eeadfc o mall

Express the Line 2X *+ 3y — 1 5Q \nthe form ¥ = MX + C then find the Value of M and C.

n_1x+c{2x+3y-1 =0 v (V)

Find the Mid-Point of given Péints P(-7,4) ,Q(6,-2) -éf:"‘)ﬁ&y» Kl:&’;é?f‘v (vi)
Find the distance between given Points. A (2,-6) , B(3,-6) J:é(:’”’)‘li[}yu KLWZC?,,) (vii)
Write the Symbols of Congruent and Similar, 2 e § apltita S (viii)

_ZEu St g (i)
-mAB = 6cm & zf;r:"’ M AL Int ik §35% ¥ AB b3 5 co /i () 4;U»

Define Parallelogram.

CD is the Right Bisector of the Line Segmentﬁ.-lf mAB = 6 em, Find mAL.

D |-
S L L et 8 cm 1 6 cm, 10 cm s/ (i)

Verify that 10 €M ,6 €M and 8 €M are the Lengths of the Sides of a Triangle.
Describe the Practical Application of Similar Triangles. e S el JJ sivpis (i)
s S Lt e fs s § oS EYA (V)
Verify that given Measures are the Measures of the sides of Right Angle Triangle.
a=6cm,b=4cm,c=2/13cm

ﬁ e P.T.O

"J

B s L
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Find the unknown Value in the given Figure. ) -’ér}” Py r:h" t ui’dé (5{ ¢ (v)
. J2 ecm
1cm
Define Rectangular Region. - sEow P8 S LP/ (vi)
Find the Area of the Triangle. -Z{(}"‘ 5.8t (vii)
10 cm
16 cm

Construct A X Y Z inwhich : mYZ=7T.5cm,mXY=6cmym&x=90" : JSU&k AXYZ (viii)

Define Centroid of a Triangle. -Zf_-':-i' v Sus, (ix)

(24 = 3x8) (Part - ID 3 4>

(4) Solve by using the Matrix Inversion Method. -é J’ P JJ ;;’ Z:ux’ﬁ' (ul") 5/:‘. Jlr
dx -y=2

x-2y=-1
(4) Use Laws of Exponents to Simplify. Y /‘?@l}' Lisi (&)
(81)" x 35- (3)""" (243) @

S
(9*")(3%) o
8

(4) Use Logarithm to find the Value of (438)° s ylpprade o d P (G 64/ Jir
(4) Findthe Valucof X + Y + Z if : D iyl xvy+z (@)
§% +z*=98
y + yz+zx =42
(4) Factorize : x*-a*+2a-1 s g eE (B 74
(4) Find the Square Root by Division Method : LS B e 2k ()

x4 -10x® + 37x* - 60x + 36

(4) sotvefor ‘X’ : | 3-45" - %zg L ebrer Kl (A 84Uy
(4) LI LB AL S Lyl s S ABC &b (9)

Constructthe A A B ©. Draw the Bisectors of their Angles and Verify their Concurrency.
mﬁ=4.5cm,mi&=3.1 cm,mc_A=5.2¢=m
(8)  _ctnligihLlaiiddnd Ao e SN LN SIS P lrn E i N S Bt 9,7 ir
Prove that any Point Inside an Angle, Equidistant from its Arms, is on the Bisector of it.
OR Lo
(8) s L/ Len 1) UnChenlis S Lt ol 15 146 7 J& Lt Sl 4 saB LIS St
..Jun As S0 (Un

Prove that Parallelograms on the same base and between the same Parallel Lines (or of the same Altitude)

are equal in area.

B
= S~
02.-02 — 2.02-4
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Time : 20 Minutes SSC (Part-1) e 20
Marks : 15 Session (2022-24) & (2023-25) 15
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Note : Four.cholces A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or mare circles will result in zero mark in that question.
[‘f ‘/°§ isa_ Matrix : F BN e f[‘/E \/03] 1/(‘3’”
(A) Zero ($* (B) Scalar A (C) Unit (}l»b (D) Singular st
(g) v () 16 ® 6/7 (© -1/6 @ -6/7 oo = (g) 2 @
loga= __ : @ 1 ® o0 © -1 (M 10 t eeee- = logaa| ®
The degree of Polynomial x4 -2 x3y is__ : ;..J; /?/def e 3xY =23 y, @
W 1 B) 2 © 3 @D 4
Factors of 8x° +27y% are____ : Y Y PR L sx’+27y°| (B
(A) (2x +3y) (4x®+9y?) (B) (2x - 3y) (4x® - 9y*)
(©) (2x+3y) (4x% - 6xy + 9y?) (D) (2x - 3y) (4x* + 6xy + 9y2)
The Square Rootof 8 — 2a+ lis ¢ : Bhieka®-2a+1| (B
(A £(@a+1) @B a-1 © #(a-1) D a+i)
IO Y PR Ay < > L 2USudd| D
A Statement Involving any of the Symbols < , >, < , or 2 : '
(A) Inequality =l B @ on =lsls
(C) ldentity sernd - Lad 185 2ablagl %inegr Equation ellsfnf
i (x—1,y+1)=(0,0)then(x,y)is (07 g A Cx,y)In (x=1,y+1)=(0,00 /1| @
@ (1,-1) ® a,1) @~ (-1,1) O (a,-1)
Mid-Point of the Points (-2 ,2;§§§2§&ns : e B len¥ 2,-2) 4 (<2,2) 46| (@
@ 2,22 ® & ) @ (0,00 @ (1,1)
The Symbol used “for Cor@p}\a%mce” is_ : c‘-éndb?f..--- e lle :’._Z. " .;.u-‘.' b " (10)
W - @ e . = o =
t et S RO S e at LSS Qo G512 (A1)
Diagonal of a Parallelogram divides the Parallelogram into_ Congruent Triangles :
W 2 ® 3 @ 4 @ 1 |
u}’l./('f? e Ll ft../u..{l..—ill? d)fé&ﬂf'léw,::l) 22 (12)
The Right Bisectors of the sides of an Obtuse Triangle Intersect each other ____the Triangle :
(A) Inside .41 (B) Base osf  (C) Hypotenuse s (D) Outside s
Y, 2. S Gt o L1 T U asliia g 5 S| (13)
If two Triangles are Similar, then the Measure of their Corresponding Sidesare
(A) Equal 42 (B) Different ¥  (C) Proportional t3 (D) Large <%
AreaofgivenFigureis ____ : 9 om P oy ¥ 14
4cm
-
(A) 18m® ®) 32em’ () 16em®> (D)  36cm’
t U S e I S fUF Ll SI] (15)
If the three Altitudes of a Triangle are Congruent, then the Triangle willbe ¢
(A) Equilateral {1kl (B) Right Angled 1127
(© Iosceles UGS (D) Acute Angle oo/l

1L
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Note : itis compulsory to attempt (6 -- 6) parts each from Q.No.2 , Q.No.3 and Q.No.4. Attempt any (03) questions from Part Il.
While Q.No.9 is compulsory. Write same Question No. and its Part No. as given in the Question Paper.

36 = 2x18 | Make diagram where necessary. oy bt Paisn Uz (Part-0) Jil da>
Find the Additive Inverse of givenMatrix : A = [ ‘§ : } &Rty L, () 240
IfZ=2+4,findthe Value of ZZ S edS 27 z=244 N1 (i)
2

4a3 b7 .

Simplify < = ) Y (11))
5a~4

Find the Value of @ : log,e = 0.5 s dpadda (iv)

-Z(P.,!Jlog 307 log 5 = 0.6990, log 2 = 0.3010 , log 3 = 0.4771 /i (v)
If log 5 = 0.6990, log 2 = 0.3010, log 3 = 0.4771, fmdtheValu!of log 30.

1fx=4-x/T'7ﬂnd§ " =4-vi7 Ji (vi)

e X2 - 4x + 4 .
Simplify : -8 @ A2 (vii)

Factorize : 25 x* + 1 gl g (viid)

Factorize : x - 42 D gt (ix)

Find the H.C.F by Factorization* : 8 x* i@ , 12 x*-96 - H" De$Fas (1) 34U
Solve the Equation. V3x+4=2 S el (i)
Solve the Inequality : 3’(; 2 2x3+ 15.1 c &S e (i)

-é()"u:“:’.u’ Comuoll it y=mx+c fIxn-4y-5=0 v (iv)
Find the Values of M and € of the line 3X — 4y — 5 = 0 byexpressing inthe form Yy = mX *+ ¢
Draw the Graphof ¥ = — 1. ~2_-b.».51/"l( y=-1cn (v)

Find the distance between the Pairs of Points : A (9,3),B(7,2) ér)*‘)—olsuy»éu,}zé b6 (vi)

A(-8,1),B(6,1) D Gk Bl s s S i b ol (vii)
Find the Mid-Point of the Line Segment joining each Pairs of Points : A (-8 ,1),B (6, 1)
Define S.A.S Postulate. LIS et ooy (viii)
What is meant by Interior of a Rectangle? el P =l (ix)
Define Point of Concurrency. Ay BE o (i) a4,/

Bt L oS et 7 em s dem 2 em LGS (i)

Verify that 2 €M ;4 €M and 7 CM are the Lengths of Triangle or not? Give reason.

Describe Practical Application of Similar Triangles. L/ Uit e alata 8 J Ty (1))
Verify that the Measures of Sides are Right Angle or not. S D Lk, SEGA (i)

a=9cm,b=12cm,c=15 cm
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Find the unknown Value ‘X ’ in the Figure. ..é(:""‘.vf(f ‘X ’r;"’(: u'-'f‘}(’

2cm X

2cm

-J/r:”’u‘) § m m x 4+ ABCD Cunwd/;/u’d:

Ifthe given ﬁgure ABCD 1saParallelogram then find X and IM. /LI
11x°
(5m + 10)°

Find the Area of the Figure. -cf.-: S K

2cm

4cm
LEphredd O y° 0 et € A o AD EABC A AR 1

If the given Triangle ABC is Equilateral Triangle and AD is Bisector of Angle A, then find the Values of
A

Constructa A ABCinwhich: m BC = 4.2 cm, mCA=3.5cm, mg ‘J:J?{.—E'/. AABC

o o o
unknown x ,y andz .

(24 = 8x3) (Part — II) pgs 4a5

(4) @é@au JU:‘G‘ Z://:(u:/iéuibl/ﬁ‘ij

Solve the System of Linear Equations by the Cramety'E

X + 2y =- 10
(4) Simplify : Lo
(% '(i—:)q+r"-‘5(a’-a’)"",a¢o
(4) UseLogTebleto findthe Valueof i~ 0.8176 x 13.64 A PO 7
(4) Yl xry vz iz xy+yz+zx=46mx2+y2+zz=81fo
It X% + y? + 22 = 81 and XY * ¥z + ZX = 46 then find tho Valucof X +y + 2

: édf?‘{&t}lf:fc— sa JU7

(4) Factorize the Polynomial by Factor Theorem :
x® - 6x* + 3x + 10

(4) Find H.C.F by Factorization : s b P F ik
X -2xF+ X, x>+ 2x-3,x*+3x-4
(4) Solve for X : | 3—45)( | - % = g H ér}":»zu(x
(4) Constructthe A ABC and Draw Bisectors of the Angles. -éfi{ oL Uy s &t AABC
ml—\E=4.2cm,m_BT:=6cm,ma=5.2cm
(8) LWl s L A0 7 alis 428 Lbﬁf)’ﬁu{l NSt
Prove that any Point on the Right Bisector ofa Line Segment is Equidistant from its end Points.
OR ()
(8) ..J Unt i ds e Una s Qs s sl LR u.tw’ TARg ’é?-:z.t"

Prove that Triangles on equal bases and of equal Altitudes are equal in area.

v)

(vi)

(viii)

(ix)

(&)

()

()
(@)

(<)

(@)

(1)
()

571

6,/Jr

740y

8/UJr

9,/ Jir

i,
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Mathematics A L.K.No. 15 Paper Code No. 5191
Paper | (Objective) il T em——y G g
Time Allowed : 20 Minutes SSC(Part-1) < 20 =3
Maximum Marks : 15 Session (2020 - 22) to (2022 - 24) 15 /J
@ B wp-|1-2%
e WA I3 L R e eI emsia L D g 362t L& D,C B, A 22yl ¢ agd
' _ Kl 20D Lo i § SNV S s Homs i L
Note : Four possible choices A,B,C,D to each question are given. Which choice Is correct , fill that circle in front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will resuit in zero mark in that question.
Adj of [(1) _i] is equals to : . P & 4lz Adj ¥ [:’ -21. 140
(a) [21 ;’] (B) [}, f] © [;,1,12] (D) [5 12] S
(-12%51/2 ey 2 ® 2O % ot N g_g)_l/z @
loge = -— where e = 2-718 : ! e 24718 £ —— = loge: (3)
(A 0 (B) 0-4343 (C) oo (D) 1
Conjugate of Surd a +{b is —-——: e 2 b A @)
(A) -a+{b (B) a-{b (O {a+{b (D) {a-|b
. Ly BVANLLLBeJY I 9a2-12ab] (5)
' What will be added to complete the square of 9a%-12ab : @
(a) -16b> (B) 166 (O) 4b° (Dp(\db
H.CF. of x>- 5x + 6 and x°- X~ 6 i -wwreme ; &Fﬁl}b K % x- 6 4 XouBx+6 (6)
(A) x-3 (B) x+2 ,\@x -4 (D) x - 2
— abie sl " c" s J Ll z4 J <J .—g (7)
If ‘the capacity " ¢" of an elevator is at Most\1600 pounds then ------- 3
(A) ¢<1600 (B) Qﬁﬁx () ¢<1600 (D) c >1600
Point (-3,-3) lies in the Qgei@p: - q.ébuf s L g*(-3,-3) B (8)
(A) I (B) 1I Q) 111 (D) v
Mid - Point of the points (-2,2) and (2,-2) is —: i g —@0ps § (2,-2) 41 (-2,2) 38 (9)
@) (2,2) (B) (-2,-2) (O (0,0) (D) (1,1)
A Ray has -—--—-- end points : L S L (10)
(A) 0o (B) 3 < 2 (O 1
In a Parallelogram, opposite sides are ———= : L st e LU I e | (11)
(A) Parallel (JI# (B) Perpendicular U»f  (C) Intersect 3 (D) Concurrent Jﬁ’(t'
et JoWIilag 09 It o ¢ St L o ¢ B 12
Any point on the Right Bisector of a line is equidistant from - :
(A) Mid Point J‘ﬁu‘; (B) End Point <& (C) Point of Intersection b" G4 (D) Any Point ‘B‘u‘tfr
Symbol used for Similarity is : _ : {-J—"db‘?" el 2L B (13)
a £ ®® 2 © = O ~
:u_rz.lhf;unb’wumﬂwaquLﬁ(04lL---- (14)
The Interior of a Triangle is the part of the - enclosed by the Triangle
(A) Plane (f# (B) Square d/ (C) Rectangle J-w (D) Parallelogram  {u»ui$i#
The - Altitudes of an Isosceles Triangle are congruent : : (& cf LS —— ng.? VIgls | (15)
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2023

Ut Sty /..w/"é.m (6-6)LUlr <t 43,2 Ao 4 = b )
by g 4 IR Y S 2 Ay s SR AT I s/dtr,é.ufd'uwrwc_éf

Note : It Is compulsory to attempt(6--6) parts each from Q.No. 2,3and 4. Attempt any (03) questions from Part i while Q.No.9 is
compulsory, Write same Question Number and its Part Number as given in the questlon paper

|36 =2x18 l Make diagram where necessary. ../ hgf"unﬂdu/'uyz (Part I') J;LA:‘H RBap | 273
Find Product . [ 1 2 ] [ i ] -éf:“"d’ kg~ @ 24
Define' Square Matrix. -é..g/’ g R, i)
Simplify. 3 "217 JEEA (i)

1 " .

Express T+2 I the Standard Form a+ib

Find the value of 'x' _ when : log,8 = ';— . B ér,(u ed 'xt W)
Calculate, , log23 X log38 -é()h’ogc,ug(uiﬁ' (vi)
Simplify. (x*-49) - -—‘:’7"—:%- S5 (vid)
Simplify. V3 (243 + 3\3) | @@ -&E (viii)
Factorize. 3x - 243x° O<Q> -édf.’ (ix)

2
+b . ;
Simplify. ‘; W za ‘({? ' AW Ay
a“-b a - b
Solve for "x ", |2x + -Z—.}:“‘&fd/ x " (i)

ZEf S ehedGat i)
= ZE e )
S Ll g2x-y+1 =0 Gfi(-1, 1) 46 SZEF P ()
lies on the line 2x-y+1 = 0 or not ?

o Points if S(-1,3), R 3,-2))7£rﬁ’ﬁﬁuy/:ébﬂi:; (vi)

Define Linear Inequality in One Variable. @
Define Origin. &

Verify whether the points (
Find the Distance between

Define Parallelogram. -ﬁ:_gl/’ J L (vii)
What is meant by S.A.A. = S.A.A.? fesrl < SAA T SAA. i)

< A msl x I QeI ABCD St S ()

In the given figure ABCD is a Parallelogram then find value of "x and m "

ZV(Sm+10 :7

What is meant by Bisection of an Ang]e ? o ??.)’/’k(g.j:‘:‘. g ol ;‘fr M 440
J&‘Lﬁu}b’u;{)&&ﬂll »w L h‘.'-—e'fé_(q’,«" JUn 5ecm 2 12 em, 13 em UQHJCWIL.:,@.Q P (n
g tnfe Y

If 13cm,12cm and 5cmare the lengths of a Triangle, then verify that difference of
measures of any two sides of a triangle is less than the measure of the third side.

Define Proportion. . -2:-: 4/‘7 J o (i)
State the converse of Pythagoras Theorem. -éu&, a8 ,K»JE (iv)
Define Triangular Region. s d Jqub v)
Define Incentre. -éJ}‘ J //duﬂ (vi)
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5
Find the unknown value in « JF e -ngr’bﬁ'ﬁr’b’wfyt?%) (vii)
the given figure
lcm
Find the "Area of the given figure. -2{(’1” 46 S LS’U‘J (vii)
1
4cm
mAB=4.8cm,mBC=3.7cm, msB= 60° AUk ABC & (ix)
Construct a Triangle ABC in which mAB =4 -8 cm ; mﬁE =3.7cm,m/LB= 60°
24 = 8x3 (Part Il) foe
4x+y =9
@) y S S L uds () 540
-3x~-y =-5
Solve by using the Matrix Inversion Method. i+ y =
-3x-y =-5

(4) Use Laws of Exponents to Simplify. -é/;" @J Ve A 19 ()
n ,5 4n-1
. —_ 4
(81)" . 3 2(3) ! ( /7\!«
n
7
(4) Use Logarithm to find the value of : @%5 ,_{r,wvzc_, e / g () 6/4)r)

x (3:95)2

3[15.37

4 il p? ——m P=2+{3 J ()
If P=2+{3 ,then find the value of I’z——?
P
@) JE s § LG Bud Jitwea § A () 7/uy
‘Factorize the following Cubic Polynomial by Factor Theorem.
3

X+ 5x - 2x - 24
@ -éwéfﬂjibz:;dzé(ﬁ"&f Susirm s 1 (L)
Find the value of 1 and m for which the following expression will become perfect square.

49x% - 70x3 + 109% + Ix-m

4-3
(4) Solve the Inequality. -5 73 =<1 &S et (I 8/Ulr
4) S ot LUl s -k ABC & (o)

Construct the Triangle ABC and draw the Bisectors of angles

s s — SRS SN B
. - -, - - - " . - ", . - . - .-, " " - o 1 - - .. - . - -

MmAB =3.6cm y mBC=4.2cm s mZB = 75°

(8) AL BA et L L L el tf( S g 9ﬁ{)ly
Prove that the Right Bisectors of the sides of a Triangle are Concurrent.
OR W

-Jun i Sods 03 Inzls LU s sl i o u;b- (,C’l J g:.:z;k'

Prove that Triangles on Equal Bases and of equal altitudes are equal in area.

e [T —




Mathematics c L.K.No.16 " Paper Code No. 5196 " \_’_‘p\u
Paper | (Objective) Ist - A - Exam 2023 "(_Grm_)“ GAS) | 24

Time Allowed : 20 Minutes SSC(Part-1) - < 20 : =N
Maximum Marks : 15 Session (2020-22) to (2022 -24) 15 : AF

@ | Quf2 -3

-u;/c,gm/ Werh 3 ML R erne JUst st g QW2 L &3 D, C B, Achizalp L vy @ g
-rﬂnjﬂuli i e §L S 4f L¥ Lgf“fu,/b b L
Note : Four possible choices A,B,C,D to each question are given. Which choice is correct , fill that circle in front of that question
number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

The Characteristic of 5¢79 is - 1 1 ﬂﬂ C 5.7911 AJir
Aa) 1 B 0 G -1 O -2 @
The value of 1° is — A) -i B 1 (O -1 (D) i Jpp— g e W)
Which Order is of a Square Matrix : D K AU by | (3)
(A) 1- by-2 (B) 2-by-2 (C) 2-by-1 (D) 3-by-2
:2; :2 is equal to ; Do 4l a:;:z )

(A) (a-b)® (B) (a+b)*> (C) (a+b) (D) a-b

If 'x'is no longer than 10 , then : ) ZGIOO&'J'X')" (5)
A x >8 @B x<10 © x< 10 DO x >AP°

HCF. of a>+ b® and a2-ab+b?® is r.\”a -ab+b s a3+ b3 (6)

(A) a+b (B) a>-ab + b> (Q) (a-Wa + b2

What will be added to complete the Square 9a -1zin@é‘,{f o gﬁ.ﬁé_hd/‘ﬂ’ ' 9a - 12abi (7)

(A) -16b> (B) 16b> (q\ D) - 4b?
If (x,0)=(0,y), then (x,y) is : D e 4z (x,y) I (x,0) = (0,y) S (8
(A) (0,0) (B) (@\i\?‘p ¢ (0,1) (D) (1,1)
The Right Bisectors of the Three Si “of a Triangle are : 1l st otinf £ Qo uF £ &b (9)
(A) Congruent JU» llinear % (C) Concurrent i (D) Parallel (5
= Symbol is used for :W : q_aﬂdb‘:”i‘j’:‘p’W J = (10)

. ' e
(A) Congruent Ji (B) Similar . (C) Ratio et (D) Proportion el

The Mid Point of the Points (-2,2) and (2,-2) is : :q.ﬁéwb’(z,-z)uf(-z,z)m (11)
(A) (2,2) (B) (-2,-2) (C) (0,0) (D)(1,1)

A Line Segment has -—-- end points : Lt g L a8 (12)
A 4 (B 3 (€ 1 (D 2

cdn e § gy £ giee 30° o o g e nb £ SBAVIGS] (13)
One Angle on the base of an Isosceles Triangle is 30° , what is the Vertical Angle :
@a) 30° ® 6° © 9° @ 12°

The area of given figure is : - 6 cm G- 2§ Ja ‘}3: (14)
12cem

(A) 6cm® (B) 12cm® (C) 72em” (D) 36 cm?

; Ju:t d s c,b,a /M atb=c:d ¥ (15)
If atb=oc:d,then a,b,cand d are said to be in :
(A) Proportion w~¥ (B) Ratio =+’ (C) Equal 4 (D) Unequal (S4lt

L/



{2020-2022) to (2022-24) P ﬁ?.r,/ / 8.8.C.(Part-1)| 16 - S o0 A
Mathematics ( Subjective ) | 60: ZF £2:10 &% | Ist- A - Exam 2023 (280

e JIUSY ow/”&w (8--8)CUvr /e 40 3,2 2 )i sl 4 -tu )
-6 gy SRS Lt 2l 3 (S iR-en S50 9/Jtr,é.u/J~J'ch_u/

Note : It is compulsory to attempt (6 - 8) parts each from Q.No.2,3and 4. Attempt any (03) questions from Part |l while Q.No.9 Is
compulsory. Writs same Question Number and ite Part Number as given in the question paper.

, Make diagram where necessary. ../ b«tﬁﬁnd»fuw ] ﬁ( Part l)d,!,pﬂ B P )_ 23

If B= [; 01] then verify that ‘B , ol .fgq’.ﬂ/ B = [2 0] J (i) 2

Find Determinant of B = [i 42] ' Ji ér;""&"’ (ii)

Define Trichotomy Property. .,2{4/‘7 g MUJU" (iii)

Simplify. (%)% + 5 2 )

Find the value of 'a’ if : loga6 = 045 : ﬂéf:‘”@f J'a

Define Logarithm, -2’_{4}7 J (-‘J(ﬂ (vi)

Rationalize the Denominator . 4‘3"15: . b Pt g i)

¥ X=V3'+2 then find the value of x + ' S d x4 + B x=\3+2 A i

Factorize, x?- 11x -42 '-Efgdz’ (ix)

Define L.C.M. @@@J/’ g J;I.Jh‘d,j i) 340

Solve the Equation, Jax+4q =2 % ES S eh (i)

Solve for 'x ', | 2x + 5] = %{& & P 2 f (i)
-q":r}"JJ c'sl'm! »‘LL./ =mx+cs x- 2y = -2 whis Jd) (iv)

Find the value of 'm' and 'c¢' of the line =-2 by expressing in the form of

Draw the graph of the given equati y =7 by S ¢ .-yl:b'd{f: v)

‘fif’!y ,J-'GJL/J} ¥ A(-8,1), B(6,1).i6 EC:LJ (vi)
Find the distance between the’two given points A(-8,1) ,B(6,1)
Sl Blen K b e Lo d Ui £ A(-a, 9),B(-4,-3) 46 L& (vii)
Find the Mid - Point of the Lme Segment joining the given pairs of points A(-4,9),B(-4 -3)

What is meant by S.A.S. S AS.? ?{._.be kf ¥ S.AS. = S.A.S (viii)
What is meant by Point of Trisection ? Teiry « &Ll (ix)
“«—p — » S " — . .
If CD is Right Bisector of Line Segment AB then T C in ot € AB B CD S () 44
B, s A 0 B mOA = (i)
() mAQ =~ \/ MAQ = - (i)
Q
D

S L £ ol Sem 4em,3em Zeb ()
Verify that 3cm,4cm and 5cm are the sides of Triangle.

Define Proportion. -&’qj/‘? J wrl (idi)
Define Pythagoras Theorem. -Z:Jf." J o Ll (iv)
Define Point of Concurrency. Euwld )
Define Median of Triangle. : _ef_j;/’ J sy £ aA (vi)
Write the name of these symbols. -~ , — -c.‘.’%t&c«tﬂeu’ (vii)
ey

-




L.K.NO. 16

e 2

e

Bop-2-23
Find the value of ' x ' -ép““ .wf J ' x ' (viii)
x J2 em
1cm
Find Area of Figure. 8 cm -2.".-:(:”’ & (ix)
4cm
"
(8x3 =24) (Part I1) fos.e
@ S e Ll S Usir & s 1 () 5
Solve the System of Linear Equations by the Matrix Inversion Method.
) 4x +2y = 8
3 -y = -1
@) Simplify. | \](216 2/ 3y (25)1/2 YA
(0-04) 1/2 @@
(4) Use Log Tables to find 0.678 x 9.01, (PJLMJJMI(“)' () 64w
the value of :
4) -ér)l”ud’gfxy+yz+zx y +2% = 64 »lx+y+z=12/l(.,«)
If x+y+z =12 and x> +y 2 5rp *hen find the value of xy + yz + zx

@) . A7 Vs "3 nd A7 3x 2 akx-a1® G (x+2) S () 74y

If (x+2) is a factor - 4kx - x> , then find the values of "K".

@ ¢ Uy il kA Lindd £ oxt1ad et o 13xr12 M ()

3

To make the expression 9xt - 125 + 22x%-13x +12 a petfect square, what

should be the value of 'x'?

4) Solve the Inequality. dP== =N LSS e (I 8L
S .
@ -M Lo £ I sl &l XYZ &4 ()

Construct a Triangle XYZ and draw their Medians.
mXY =4-5cm, mYZ = 3+4cm, mZX = 5-6cm

(8) et JoWIGslr < Usik LU B L g St PAPRY ¢ S e 94y
Prove that any point on the Bisector of an angle is equidistant from its arms.
OR M

-Jun L S diesun 2l Gt sl e s L u.‘."w' Lﬁl J 2f_’.:=z.t‘

Prove that Triangles on Equal bases and of equal altitudes are equal in area.
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Mathematics A L.K.No. 09 Paper Code No. 5191 ‘,‘L_, )
Paper 1 (Objective) SSC-A-2021 Group Ist WM 2y
Time Allowed : 20 Minutes SSC (Part-1) ws 200 =
Maximum Marks : 1s Session (2017-19) to (2020-22) 15 AF

'q’/‘—Q‘LJCL’(’}L’J&"J&"L?Rc.-a)a.ufu’}béé_)&lrédlr/;{dIfdli._u_-‘éé_) D,C,B,A .;,Uﬂ.:fll'oéd’f/.‘ P gl
WYL 1A S Y S KLi S s eskie Ll

Four possible choices A,B,C.D to each question are given. Which choice is correct, fill that circle in front of that question

number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

Note :

Adj of [; _i] is equals to : e 4z Adj [:) _i] 1/.j(Jlr
Lol el e[ w g
Product of [ x y ] [_2]] is equal to ——: o dls [ x y] [_21] J‘l«d/‘ (2)
[x+2y] @ [2x-y] © [x-2y] ®) [2x+y] @)
Write 7\1; in Exponential form : : zgauzr,s,,[,f 7\1? 3)
2 o) Mg X B x @) '

The Conjugate of 5+4i is

P e ——lJEN Y S+ai (4)

O

_______ 5+4i (D) 5-4i (C) -5-4i (B) -5+4i LA\\)

The relation y = log_x implies 2 :@ y=logx i (8)
z
Yex D =y © Z=x @ J©3@

The logarithm of unity to any base is O{& ;QA(& —Zﬂ ¥ n{gwuf (6)
10 (D e (O Oﬂ\ ) 1 (4

g W P o—— ez (3"'5)(3'5) (7)
(B) 7

- < - . - " - - -~ 7 27

(3+5)(3 -E) is equal to

1 @O -1 (A)
- = & . i
actors of 3x - x - 2 are : O Pute—J A2 L3 x - 20 (8)
(x-1),(3x+2) (D) (x{@)@(-Z)(C) (x+1),(3x+2) (B) (x+1),(3x-2) (A)
H.C.F. of 5x2y2 and 20x3y3 is Y e — e ¥ :Z(b(sy3 2l szy2 u¥i 9
D) 100y (@ 200 @) 5% (A)
What should be added to complete the square of x* +6 BP0 d/;,}; S VBV Frea Lz (10)

163 D) &° (© -8 (B) 82 (A)

Dt 0t 255 1600 oslicosli " e " sl J LWl 7y J <3 (11)

If the capacity " ¢" of an elevator is at most 1600 pounds then

c>1600 (D) c¢<1600 (C) c>1600 (B) c¢<1600 (A)

Quadrant : Y 4 o)
IV D) m (© I (B I (A

Point (2,-3) lies in

L §# (2,-3) B (12)

e —— s ¥ (2,2) #(0,0) 56 | (13)
(-1,-1) (D) (0,1) (C) (1,0) (B) (1,1) (A)

Mid - point of the points (2,2) and (0,0) is

o ————

A Triangle having two sides congruent is called — : : q_(]ﬂ;/ —_—un J’U‘*Cll"ll w L el L] (14) i
Isosceles ‘_)=7 Ui (D) Equilateral {Usyifsl~ (C) Right Angled ,:;'jlﬁG' (B) Scalene {uruii (A) i

G/ Sl (et e i G L sk} (15)

The medians of a Triangle cut each other in the ratio

1:1 (D) 3:1 (C 2:1 (B) 4:1 (A)

[ P

Scanned with CamScanner



QO172019) to 2020- 22) 5 _‘/).an/ SS.Co(Part -1 /
: i e =1) 109 - Sepeo s

Mathematics ( Subjective ) o0 : /J’ E_rZ:IO =y

| ssc-A-2021 | (280 (FLs

. y . 4 { > ":“ D /
;Tu.r Nt d!llt&f;’.’.}').f{-a'i.' (6--6 )£¢J'r’/; c..u: 4153,2 /fdlrd':u;l,» u‘.‘a“;t' }
m Ay C,_”rfy:u_.'/&,n/:‘u 2ol G 445’(}'3-.«.‘_(5}" 9/‘.U't‘-§-(.[fgf-:lllyufc_df
Itis  compulsory to atlempt (G- 6) parts oach from Q.No.2,3and 4. Atte
compulsory. Write same Quastion Number and Its Part Number as glven In

Note ¢

mpt any (03) quostions from Part Il while Q.No.9 is
the quostion paper,

EXERT T ——w wrmoyrn B A m
e ] Lt s ey AP ] (e 17000

" e T T e ——————

Find the Transpose of the Matrix. [ 5 1 -6 ] -f’i’r}“ A6 u‘"l) ¥ A '(_I)‘;;(JI;'
0 v v 0 L

e U b v an [“23 bf1]=['g ‘2‘] S

I a+ 3 4 - | -3 4
6 b-1 6 2 then find "a" and "b ",

v » 50 )

Lvaluate 1 -25(}";.-;' g 150 (iii)

Find the value of x and y if : x+iy +1 = 4 =31 ﬁé‘fp‘“&i J y#l x (iv)

Find the value of ' 2 log 6 = 0+5
a

log 6 =05 ek edfar (v

. . . . 25 x 47 - y .
Write into Sum or Difference Form., log 29 -éf.fqﬂkﬁ(; 0/’!’4—"{ Z f{“ (vi)
Simplify : ._\I_I_B_. -'é‘/;; (vii)

NERF ’
Find the Conjugate. 9 +J2 -gr’b LY (viii)

{ Factorize. 8x3 __]_5 -éd'/.; (ix)

\J

Find the ILC.F. of : 102xy%z , 85x%yz , 187xy OC@ ek He () 30

Solve the Equation. %x = %x = X 'f@ -f:f;d’f.:,bt/ (ii)

Solve for " x " . |2x+ 5] =1 % ka3 iy
P(-4,3),Q(-5,-2) 0 wmérPeJ (iv)

Determine the Quadrant in which the points P~ ,Q(-5,-2) lies.
-"‘f—{f’lywq i "c "Wl Sy = mx+c S x=2y =2 =l (v)

Find the values of * py " and
y = mx +c¢

y expressing the line x= 2y =-2 in the form of

SR L s £ A(9,2),B(7,2) usiz £ b6 (vi)
Find the Distance betwee of Points A(9,2),B(7,2)

! Define Right Triangle. s el f (il .
If AABC 2 ALMN , then find the unknown " x " . _ZEeolanf "x " et ) A ABC AN S wiii)

Wb i€ i AL 3 S BB et e U el 255';(;. Sidez Ly @ 40
What will be angle for shortest distance from an outside point to the line ? -.
Define Ratio. -2‘5.4!/3 e i)

&
- ° ic.
Define Triangular Region. & -3.’/‘7 Lsieltjj (lii)
sl 2 ) |
Define Circumcentre, _2':_ _J_’/Jr _____ /(; -/-:, (iv)

i
1
 SORp——
-l
- ] O I .20
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L.K.NO. 09

@)

®)

@®)

——

- Ll [ SEG b g § Gt £ 8 1 Ssts ()

Verify that the Triangle having following measures of sides is Right Angled.
a=5m,b=12cm, c=13cm
Construct a Triangle XYZ in which : ' AL XYZ 2 (i)
mZX = 6.4cm , myz = 2.4cm, mLy = 90°
Define Orthocentre. -éb‘;’/"" e 7}(5”’ (vii)

“E el 2 41 y° X b Lot A s AD £ ABC &L buisLaglss (i)
If the given Triangle ABC is equilateral Triangle , and AD is bisector of angle A,
then find the values of unknowns x°, y° and z° .

A
o| 0
X
0
B C
D
Find the value of "x" in given figure. _é (’L”O‘EL{ "yt uf‘}e&,', (ix)
4 cm X
3cm

&P

&

() Solve the system of linear equations by Cramer's Rulé@ =S 2ulluis £ AL () 54w

3

3x 6
@) Simplify. (216 )2{@%” 2 S ()
) ey /2
(4) Solve by the Logarithm. (1-23)(0-8975) S end Zb’:’ ) 62
(0-0075)(1278)
2
4 p . | 1 = -
(4) i (x=1), (x=1) 7 x=2+3 S
2
,If x=2+\(3 ,find the value of (x.-;l(_) 1 (x_’lc_)
(4) Factorize. 8> 125y°= 60x°y + 150y > JZEG7E () 74y
@ T¥ x4 Kx—=12 & x2#x- (2K +2) UM Pl (x+4) LLd VT K ()
For what value of K, is (x+4) the H.C/F. of x2+x-(2K+2) and 2x% + Kx-12 2
(4) Solve the Equation. X _ - g X y X + 2 L& Len (D) 8, J1r
3x-6 X=2

~tonigS &by & St sl Lbxyz &b (L)
Construct the Triangle xyz and draw its three Medians.
mxy =4.5cm » myz = 3.4cm ;, mzx =5.6cm
Krdoldlifslre sl 3205 L5 09 In Zis £t £ B ¢ Bl N L 9
Prove that any point on the Right Bisector of a line segment is equidistant fromits end points.
OR W
—ebn Lol = Uhil 55 L gyt L ol U/ ek

Prove that any point on the Bisector of an angle is equidistant from its arms.
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Mathematics A L.K.No. 10 Paper Code No otk )

Paper | (Objective) SSC-A-2021 Group 2nd CAE) 0 24
Time Allowed : 20 Minutes SSC (Part-1) < 20 H =

. 53
Maximum Marks : 15 Session (2017-19) to (2020-22) 15 AU

LA B IS QL i e R Eri L i g (632t L6 0,C B A 2By Sy g
- (xu"-ﬂ-,f'i.’ A3 LSS Iy 18 i/ 4’1{,':;'; vhie Ll

Note : Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle in front of that questicn

! number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

Adj of [0 ?] is equals to : < 4z Adj [0 1] 1/Jrr
-1 0 -1-2 1 -2 1-2 (‘l)
[ 2 1] (D) [ 0 .J € [0 _1] (B) [0 1] (A)
Product of [ x y ] [_21] is equal to —: P — e[ y] [ 1] V""}/ (2)

..... [ x+2y] O) [2x-y] © [x-2y] B) [2x+y] ()

 wiite 4*/2 with Radical Sign J— o {& o 12 @ V2 @) 4({;4’1& s, f 2/33 i

> e R T L e
D T i R - [T R

' —1/2 ' 5 -1/2 (4)
§if 25 _ . - L D=5 o 4 o 2 (A) . = =
5(16) T s P77 @ 5 ® 5 ' (16) Q
! 5
; The value of log (-%) is : l @ _Lv'-‘f‘;( log (%) ©)
1 og :
‘i logq - logp (D) logp +logq (C) 105\‘{\ @108!’ -logg (A) :
i%logp-logq is same as —: ligp ﬁ& 4 I IUSP“Og‘li (6)
i logq - logp (D) Togq (©) log(p &)4\ g ?) (A) :
1 %
% = 2 -
LA equal to: 2-b (D) a+b @}\;) (B) (a-b)% (A) ady 228 7)
a+b Q) ! a+b
2 2 {o ; 2 2
Factors of 5x° - 17xy - 12y are : QAL £ osx - 17xy - 12y

(5x-4y),(x+3y) (D) ), (3x+3y) (C) (x-4y),(x+3y) (B) (x+4y),(5x+3y) (A)

?HCF of x*-5x +6 and -x-6 is

.bl;sz-x-Gz;'xz-Sx-*G 9)
x-2 D) P-4 (@ x+2 @) x-3 (A
H.CF. of a2 - b% and a5 - b% is

_—
e
" -L'J

|

¥ a>- b a2 b2 (10)
2

a-ab+b® (D) P+ab+ b2 (O a+b (B) a-b (A)

i

T B e

If 'x'is no larger than 10, then

-

P Imsdre 102§ xS P (11)
0 @D x<10 (O x<10 (B x>8 (A
Point (2,-3) lies in Quadrant :

X

Iv

LB L (2,-3)5 (12)
IVv. (D) m () I (B) I (A)
Mid Point of the Points (-2,2) and (2,-2) is

e Bn ¥ (2,-2) 0 (-2,2) 58 (13)
(1,1) (D) (0,0) () (-2,2) (B) (2,2) (A)

Pl ol < S LB L e £ a i L (14

' Congruent Triangles can be made by joining the mid - points of the sides of a Triangle :

..... 2 MO 5 (© 4 (B 3 (A

Petbn (‘5': Z

L a8 7 5 Lila s £ s 25 _g (15)

1
)
i
|
i
1
!
)
i
i
I A point equidistant from the end points of a line segment is on its
i

a
a

a

2

Median ks (D) Perpendicular 1 (C) Right Bisector ist(»f (B) Bisector it (A) :
—————— e

1

--------- FeA o Fetr e ;

a ................ S '
_____ T _ |
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(2017-2019) to (2020-2022) ¥ 12 - /o Ay
General Mathematics ( Subjective ) | S.5.C.(Part-1) | SSC-A-2021 | (ZENG*LaJ 2

( Group II .’df) 60 /J/ “2:10 =
uMetnde M Spnof e Gt feun Pl 6= 0 Ldira it 4 03 2 0wl & 2l

- 6/){.;{.:")’.& ;[/ [y ¥ Sy Q (A4

Note:It is compulsory to attempt (6 ~6) parts each from Q.No.2,3 and 4 and attempt any (03) questions
from Part II. Write same Question No. and its Part No. as given in the question paper.

g

36 =2x18 | Make diagram where necessary. -u:’('r.o"fxdu)ut;?. '(Part I) Jio ! S
2 ,
Express 48 % % as Decimal. -"’_;-(‘_Ziuf:,/li‘l £ 48 3 % i) 24)r

‘ Rs.150/-, Rs.275/- -ZEpt od 2FLT o i A e (i)
“ Find the Ratio of First Quantity to the Second Quantity in its Lowest Form. Rs.150/- , Rs.275/-
If a:b=2:3 find the Ratio 6a: 2b . “Z#6a12b Jmatb=2:3 i
e e ven Lo naf 2L Ly 2L Lum2 ) )
Find the Ratio of Rs.72/- for 24 to Rupees 4 each.
shad = 480/ & « & = 3% G pbesjsd )
Find the SP when CP = Rs. 480/- , Profit = 3 %
J Ll = 260/ Ly« 2o = 5% B e jnd (vi)
| Find the SP when MP = Rs.2760/- , Discount = 5 %
Find the CP, when SP = 851/, Loss = 8 % w=3,)=d = 851/ Ly S =8 % & Sk s (i)
b e e Ui 129 L 4 &2 54000/~ (vil)
Find the Profit on Rs.54000/- for one year at 12 % per annum.
0. 4536 = 25001 5 2o oK %}f@;wd’” 2.1 oKL LUt (i)

Rate of Tea in Pakistan is Rs.2.1 per pound.Find the rate when 1 Pound = 0.4536 Kg

3| 9 15 . - 3, - 915 (3 340, !
Simplify 125x"y"" and give answer in Exponential %@f‘}a‘f bzs 12 sl éﬁ" £ N125x7y @) 3~

-2 Dop 2
3\3 @ 3\3
. v < 27 .
Simplify ( 27f3 ) and express with Risitive\Indices. -'4‘{;: Vet cd oz &~ f (——fg‘) (i)
8a 8a

Write down the value of 1 -g‘LEJ log 6+ 304 (iii)

Solve, 2log5 + logs—% log 4 -énf (iv)

b 2 2 Lo 3 nid e § e 40 15,0000 a1 v f_?‘_ryi_-.f"’._ﬁ AW
If a Deceased left a property of worth Rs.15,00,000/- Workout the property, if he left behind a widow.

Calculate the Zakat on Gold amounting Rs. 15,00,000/- -ér:'vd;f | 26 {Lr&a{t%u 15,00,000/- (vi)

S K 72 16% LSk S &1 3500/- =2 L i)
The price of a Bicycle is Rs. 3500/~ if 16 % Sales Tax is charged , then calculate the amount of
 Sales Tax.

: E e 2l B S 1T el £ 20012 S b 6 U S

Khalid works 6 day - week. Find his Gross Monthly Wage, if his rate of pay is Rs.200/- per day.

P P 350000 By P e st Susgie i
Calculate the Ushr on a wheat crop amounting to Rs. 3,50,000/- produced by Artificial Resources.
7 l’ - D
EP GO 2 1,-3,5,-7,—ag L () 44

Find the term indicated the sequence 1,-3,5,-7,— a

9

Find the next four terms in 1,3,7,15,31, ~—. -EJ(;J % J'ut 1,3,7,15,31,— (ii)
Find the 5th term of G.P. in 4,-12,36, —. -z:"r'lq{l i 4,-12,36, — L~ (i)
Find the G.M. of -2,8. SR bl 22,8 ()

‘ e s LA A= {-2,1,4) S
‘ If A= {-2,1,4 } » then write two Binary Relations in "A ",

,.
i
{
|

e ———————

Scanned with CamScanner
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Represent on Graph F(-3,7) -é/;lﬁ {Jfff F(-3,7) (vi)

=S (%Fmmn) e 2% 127°F iy

SERP—

Convert 127°F into °C if - °%

For the Data 3,5,6,8,8,9,10 find Mode. -é{‘)‘" ok £3,5,6,8,8:9,10 iy (viii)
-&2f Wl w2t XxY 7 Y ={2,4,8} ¢ x = {03, 5} /1 (v

-

If X = {0,3,5} » Y = {2,4, 8} then write two Binary Relations in X x Y.

H_( Part IT) (92 J
@ 2 7L L 136 U’ 77 ntTG i s 22400/- & L& s 8 KusorT 14 u:dﬁ«..gﬁ () 54y

s T
If the stay of 14 men for 8 days in a hotel costs Rs.22400/-, find the cost
i for the stay of 7 men for 13 days.

J Mgfd_fu://_u'ay(w y n(‘f’ 2% u“u’tﬁ nu/blL}Lﬂ’ 15% ¢ =2l //'J f (<)
$¢nl

Discount on M.P. of a Heater is allowed and still makes a profit

)
If 15 %

of 2%, if it is sold on M.P. what is profit percentage ?

2L [ Ll e Uz 20,00,000/- uu,dtd'w F une e s il oL éc_u_f LI () 64

=S
The inherited property amounting to Rs.20,00,000/- is left b sed
He left behind a widow and two sons, workout the sharg\ &ch

)

1
]
:(4) 521 x 10 x 521 x 10" x 12 (chf'lru’i ol {/‘; )
! 2 x 10
521 x 10 x 12
Simplify and write your answer in c Notatlon

2x10

03

L Ceml LU 6% 2L opis &30 1250/ (3h) 7/Ju«
e to be deposited at 6% per year simple

ple profit.

(4) Find Six A.Ms between 5 and 8. ek gt 2 sl 8415 (L)
Ja.5% 4 d/.u&ﬂ-.;_u/ 1,50, 000/- (/J_.,/,Gc.u/ 5,25,000/- GuTSSUPtl (L 8,4
 (4) _Lofd/l(‘dé_’u",qf RN ('J g &1, 10,000/ .Gér}“gfabuﬁcb/

i The total income of a person is Rs.5,25,000/- where as exemption is

@ e BLLE S S
How long would Rs.1
profit to gain Rs.75

Rs.1,50,000/- .Workout the tax payable @4 .5 % alongwith the income tax rate,

if Rs.10,000/- has already been deducted at source as income tax.

@ If A=1{2,3,4},B={3,69,12},C={4,6,8,10} A
then verify that AU(BUC) = (AUB)UC S ZEesk in
(4) Draw the Graph of : y= -% -% -:Lb.dlf ) 94
Jitad s § i Luf) 100 L&k HFE) LEEHSEE ¢ vl ey ()
1 (4) lee

‘
Constructa Cumulative Frequency Polygon (that is Ogive ) for the given Data.
]

The table gives the distribution of Weights (Kg) of 100 people :

Weight (Kg) (2! S 1)l {50 == 59 [60 -- 69 [ 70 -- 79180 -- 89 90 -- 99100 -- 109
Frequency & 15 30 35 15 3 2

Scanned with CamScanner



Mathematics A Il LKNo. 13 " Paper Code No. 5191

o
Paper | (Objective) $SC-A-2019 m’ CAEP N ¢
Time Allowed : 20 Minutes SSC (Part-1) < 20 =3
Maximum Marks : 15 Session (2014-16) to (2018 - 20) 15 AF
(g @ _ﬁw/"“[ﬂ”?"/c)
..q;/c.wsﬁtfu’u:wdwé.,.m.-/»eu:u:ﬂ;éé.;&védv,;{qb’g}u:-u_réé,; D,C,B, Azl lJrs + g
T N PN My O (PRt S I
Note : Four possible choices A,B,C,D to each question are given. Which choice Is correct, fill that circle In front of that question
number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result In zero mark In that question.
Which is the order of a Square Matrix : ' 1 L R () vof 11 Aol
3-by-2 (D) 2-by-1 (C) 1-by-2 (B) 2-by-2 (A) (1)
The value of i is : 4 o i © -1 (B 1 (A : gad Sl @
logm"” can be written as —— : : {,59\:‘& — 4 logm™| (3)
log(mn) (D) nlogm (C) mlogn  (B) (logm)"  (A)
4x + 3y - 2 is an Algebraic & — GA L ax+3y-21 (4)
Inequation ehis# (D) Equation =his (C) Sentence -ﬁ (B) Expression M (A)
The factors of at - 4b? are : O\t — izl d.at! )
(a2 - 2b2), (a® + 26%) (B) a<ﬁ(a+b),(a2 + ab%) (A)
(a-2b) , (a® + 2b%) (;Q}QQ(\, ’b),(a+b), (a2 - 4%) (O
CF. of a*-b* and S.b is — \vaq_ (”bbb’ 2.3 a2-bE (6)
a2 -ab +b* (D) 5%\ b2 (© a+b (B) a-b (A
S .;.gf‘._ﬁb’.zd&-z<x<% ed x = —| (7)
x = — is a solution of t lity -2< x <% .
o oo© 3 ® -5 @
The Point (-3,-3) li}\\)in the Quadrant : ! & 5‘: LWLy (-3,-3) B (@8)
v ® mo© n @ I @
Distance between the points (1,0)and (0,1)is ——: g —— Loidps ¥ (0,1) o (1,0) 50 9)
2 o 1 @z ‘®m o o
D g bl gL Lzl (11 e & U ! (10)
The symbol used for (1—1) correspondance between two triangles is :
«— oE © = 6 — A
Medians of a Triangle are —— : DAL By L 2 (11)
Non - Concurrent & (‘ﬁ,‘ (D) Opposite & (C) Concurrent &ift () Parallel $i1# (A)
PG B2 R Tl Ll ats (12)
The right bisectors of the sides of a triangle intersect each other on the Hypotenuse is — triangle :
Right Angled .7 (D) Obtuse Angled osli2* (C) Equilateral Lusyisis (B) Acute Angled osiJ wb (A)
Unit of Ratio is : ; q..bt..‘j{b’.-»f' (13)
No Unit dwfi0d/ @) em X7 (C) Meter X (B) Kg A (A
Similar Figures have area : : u_t&n — A aJeLE i (14)
Same (=l (D) Perpendicular Iwf (C) Different i (Bj Parallel Si# (A)
0 5 90° (bl 1| (15)
A Quadrilateral having each angle equal to 90° is called ——— :
Rhombus 2 (D) Trapezium 33 (C) Parallelogram  {U»UISJi7 (B) Rectangle J-):‘ (A)




¢

L Make diagram where necessary. -g{’lw"fxduﬁulg1 (Part 1) Jslo |

./)w,pf(/'/"}"/ 7

L SIS fe 2Lt (6 8) Ly L 43,2 Ariie § alis P
- 34 DRy Stz s g diz-e gy 8wy /S eimtea §f

Note : It is compulsory to attempt (6 -6) parts each from Q.No. 2,3 and 4. Attempt any (03) questions from Part Il while Q.No.9 Is
compuisory. Write same Question Number and its Part Number as given In the question paper.

a P 2
(2014-2016) to (2018-20) o/~ u).r:f / SS.C.(Part-1)| 13 -$8aw_ 1 s {
Mathematics ( Subjective) | 60:AF Z2:10 = | ssc.az09 Pesen b "

| Factorize. X(x-1)-y(y-1) @ -@fd/?(w')

Find the Product of : [.; (Z)J [ 3 .;5] -qfr}".,,m (i) 24U
6 -1

N LA A ST A - [f, 21] S @)

If A= [ :) 21] then verify that A + Al s a Symmetric Matrix.
- )Ll‘cﬁa..n q+0 il p,q,_éu:/ﬁw‘.; % )J‘Jbt f 0'5 )ﬁd/’; (i)

Express the Recurring Decimal 0+5 as the Rational Number %where p.qare integers and 90

-4 . -
Express 6 x 10 in Ordinary Notation. ..é:.‘a e ﬁ}(b S 6x10 4 2% (iv)
Calculate 10553 x log 325 _4F}v_-.-_’ J 10553 x 103325 (v)
1. o 1 .
Express T in the Standard Form a + bi ..4;&; a+ bl fd;.l_.uf T (vi)

(x + 2)(x*=1) @@ i v (x+2)(x%=1)..
Reduce POTIvS S to the Lowest Fomo Qﬂﬁ} et P f PPN are (vid)
If x=2-{3 find = @% -’quPo-«.’J%;n x=2-3 Jf (ix
Find the LCM. of : ¥z, oy’ &gl Fiobns @) 340
Solve the equation. N2-t = Yot 28 &S i (@)
Solve for * x ", © -;-l3x +2[-4 =1 LA o x i)

-g{/?)""o:—zt! Fin C=10 ﬁ F = %C +32 q‘_&-@:d"/srg}.“*ﬂu}ﬁ (iv)
The formula of ee Fahrenheit is given by F = -:- C +32,if C =10, then find F.

-gﬁPﬂJ"c' st mt ALLSE L yemx e S x4+ 3y-1=0 55
Find the value of " m * and " ¢" of the line 2x + 3y -1 = 0 by expressing in the form
y = mx +c
Define Right Angle Triangle. -&4}7 g EL NS (vi)
Find the Mid - Point between (3,-11)and (3,-4). -é;f,c}»*ﬁdy,, ¥ (3,-4) o (3,-11)Usi2Ls8 o)
-(,{/r)")li‘gf" X" 4 "m" r}“t(ﬂu;&fb“d{j) (vil)

Find the value of unknown " m " and " x* for the given congruent Triangles.

A
B 4 . AW

Sm-3D 2m+6

Find the unknowns in the given figure. 5 = -E{r}" q;')r:‘“ t ufquj) (ix)
m n
75° i x2 y°
Define Bisector of an Angle. Tq..ﬂ/?’c_.wt L ,_..:qu (0] 4/1,":‘
Write difference between Ratio and Proportion, -u:fuku') Lot sl o’ (ii)
Define Congruent Triangles. -q/..yj‘ g uﬂ’fb’-‘ @ii)

I P.T.O. .l



- { LKNO.13 | Lp=C; -5 ~/9
s ! e T8l S S G ib g TS Ll st Gv)
a = 16cm, b = 30ecm, ¢ =34 ¢em
Verify that the Triangle having the given measures of sides is Right Angled .
a=16cm, b= 30cm, ¢ = 34dcm
State Congruent Area Axion. -q/uy S u;/gfb" v)
mAB = 4+8cm, mBC = 3+7cm, m 2B = 60° 6k ABC att (Vi)
Construct a Triangle ABC in which mAB = 4+8cm, mBC = 3+7cm, m <& B = 60°
Define the Orthocentre of the Triangle. LI S el als i
LI X (L LI wiii)
Find the value of unknown " x " in the given figure.

X 13 cm
5 cm
Find the Area of given figure. 8 cm -er:‘" 51§ J’drd: (ix)
(Part li )(».4’
(4) Solve by Cramer's Rule 3 - 2 & -q/d'c_uJ uib’éf.:/ () 540

5;‘0%9 -10
(4) Simplify %@ Y 2/3(32)'"1/5 -4;‘? (&)

@@ I(l%)-l

(4) Use Log table to fi ?value of -J_fr)".uf & 24 Jduy(.';f:‘ (i 6/.J.Jlr
0:678 x 9. 01

0.0234
4) -Q/?J"‘JJ ab+bc+ca ;)ra +b2+c2 =24 » a+b+c=6 f(.,)
If a+b+c¢c =6 and a + b2+c2-24 then find the value of ab + bc + ca

@ 2 - 6x¥+ 3 + 10 -4{5}2’&&&/&»«%&[4:&:4{62’.“ @ 740w
Factorize the given Cubic Polynomial by factor theorem X - x> + 3x + 10
@ - 8+ 5% - x- 208 v 16t g Bl s )

Use Division Method to find the Square Root of the Expression.
4+ 2% - 12x - 203 + 16:8

(4) Solve the Equation. JX +7 + JX +2 = \'6x + 13 - U'/(J' Sahlr () 3/&)"’ :
(4) ,_g:u.q,f.ﬂt Lu{;b Lyl - u'bz ABC &8 ()

mCA = 5.2cm » mBC = 3.1cm , mAB = 4.5 em
Construct ct the Triangle ABC. Draw the Bisector of their angles.
mCA = 5.2cm mBC = 3.1cm , mAB = 4.5cm

®) rndeWisloa Uy L B8 uinloy st s B EB L N f e 9 )y
Prove that any point on the right bisector of a line segment Is equldistant from its end point.
OrR W
UBAL S ) UnCbolenl B SHPL1 1 81402 IO E oG Sl S Secrt
-Ju.n.cugﬁ,gz o (Ungls

Prove that Parallelograms on the same base and between the same parallel

lines (or of the same altitude) are equal in area.
Aoa b o




L.K.No. 14 Pipor Eodo No. 5192

Mathematics ,===A U‘ %
Paper | (Objective) SSC-A-2019 CAHM L 4y
Time Allowed : 20 Minutes SSC (Part-1) < 20 =
Maximum Marks : 15 Session (2014 -16) to (2018 - 20) ¥
A © Loy 9

S BIANI SO L s ne S s L iy g2 L4 D,C B A VR Ly 1 Sog |

O 2D LS LSS KN S i K
Note : Four possible cholces A,B,C,D to each question are given. Which choice Is correct, fill that circle infront of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

Product of [x y][_%]l&—-— :

ettt [ x y][_i] Sl 14y

[x+2] ® [2-y] © [x-] ® [2+y] @ W
Real Part of 2ab(i + iz) is : q_-———/(?( 2ab (i + iz),./'g.ﬂ:’ )
-2abi (D) 2abi (C) -2ab (B) (A)
logp - logq is same as t { ——— = logp - logq! (3)
g () ©) :ﬁf © 103(@ﬁ% tog (3) (A
%89
(3+E)(3-E)iaequalto—: % :—-—-4_‘14(3+‘[—)(3 .j—) 4)
1 @ -1 @7@ ® 7 (@)
The factors of a® - 4b® are : d/i..m Zad- ot (5)
(a -2b +2b ) (B) (a-b), (a +b),(a +4b ) (A)
@. +2b%) (D) (a-b), (a+b),(a> - 4b°) (O
LB B st v eadz | (6)
What should be add omplete the Square of x"l + 64 — :
o D) 16E © -8 (B) & (A)
¢ e QW —— cplpndide st <> s b LSl )
A Statement involving any of the Symbols < ,> , & or 3 is called —:
Linear Equation =Bt (D) Inequality =isr? (C)ldentity rarnided 1 iiaIfl (B) Equation =il (A)
Point (-3,-3) lies in the Quadrant ' e RLBIL YR (-3,-3) B (8)
IV O (D) ID (O m (@B 1 (A
Mid - Point of the Points (-2, 2) and (2,-2) is — : 4_—:-%31(»((2,-2) H(-2,2) 8] (9
(1,1) (D) (0,0) (© (-2,-2) (B) (2.2) (A
Two Parallel Lines intersect at point. : : u_?Z_f 87 A — s 1 (10)
Zero (D) Three £ (C) Two » (B) One i (A)
gt Lé’g/f B8 i p £ 3 £ Qu n Lalti (1)
The line segment joining the mid - points of two sides of a Triangle is to the third side :
Perpendicular [»# (D) Non-Parallel (J#7Z (C) Parallel ()7 (B) Equal 4t (A)
The Bisectors of the angles of a Triangle are — : t L ——rt £ ypligZlali (12)
Bisector it (D) Concurrent &4 (C) Perpendicular Ly (B) Parallel (7 (A)
Symbol used for Similarity is : o : z,'.J:f Jrew dL | (13)
= O <« (© = (B ~ (A
The Diagonals of a Parallelogram — eachother : s BglS —— ki L L (14)
None of these (/e 2! (D) Bisect at Right Angle iU’ (C) Trisect =" (B) Bisect =& (A)
e i e s Mt e ) P - T sl B3 (1%)




ﬂﬂ%/&y“? - /9
oreans) o @ots-20 OF | SS.C(Part-1) ogs/ |14-580 Fhdw
Viathematics (Subjective) | 60: A Z 210 & {sSC-A-2019 [(ZE) Y

c.g;r»y.q.wuw;’.-,_w}"&lm (6-6)LUwr e f4013,2 Ao ( el b
-4,(-,,,4.;{4'r.1’z¢/ sl S &(duz-;.&us/dw.é.qfd’.:.utn-,fc—éf

Note : It Is compulsory to attempt (& -6) parts each from QNo.2,3and 4 Attempt any (03) questions from Part Il while Q.No9 Is
compulsory. Write same Question Number and its Part Number as given In the question paper.

lg 36=2x18 | Make diagram where necessary. -gf’hqffnduﬁuv. l (Partl) J:Lﬂ’

Define Scalar Matrix with example. -2‘}/5114-;)9-&’} g JF)-“ (i) 2/.)&)’!’
" " L " - 3 4
-u_‘fr:‘".:).nf b "at in [a +63 bfl ] = [ 6 2 ] A Gi)

a+3 4 _ -3 4
If .6 b-1 a 6 2 then find "a" and "b ™.

Simplify. 4,| g1y 138 ) 4{;’! (iif)

Simplify in the form of a + bi. (-7 +.3i)(-3 + 2i) _4(,%:‘}’ G a+ bi (i)

Express in Ordinary Notation. 9.018 x 10°® -Zd\;ﬁ.‘ 7 )

Find the value of "x " , when logzx = 5 2 @-{'P.wf gf "x " (vi)

Reduce to the Lowest form . (x +y)? - axy @ B ZUU:J’Q e (vii)
. (x-y)* <€/

Simplify. r;% Q{Bo S yuaiia (vil)

Factorize. %5@ x“ + 5x - 36 -«.{fdi (ix)

Find L.C.M. of the given Expression @ s9xlyz , 9y G LeM K ZLLs O 3w
Q x+2|-4 =11 ;@z&-xn(ﬁ)

Solve for "x":

Solve the Equation. Jox-7 =yx+10 =0 g el (i)
Define the Cartesi . g Swf § S )

I e s mt ML f oy - mx te { x-2y=-2 eidd ®
Find the value of " m " and " ¢” of the given line x -2y = .2 by expressing in the
form y = mx + ¢
Find the Distance of the given pair of points. A(-8,1 ), B(6,1 )-u,‘f(}".bﬁuyu Loz & s W)
_ A(9,2), B(7,2) g den € e i iUzl 8L é (i
Find the Mid - Point of the Line Segment joining sachother of the given pair of points. A(9,2).,B (7,2)
Define the H.S. Postulate. g § aPrUin ol
SO LI ¥ 130° Lolifi ¥ LUrHPEl (%)
One Angle of a Parallelogram is 130°. Find the measure of its remaining angles.
LS mt X (#t £ LNO 4/ LMO S o 4y
In the given Congruent Triangles LMO and LNO, find the unknown " x" and " m"
L

2x + 6 18

M S5 N

on mﬁ-Z-ch,mE-Z-Scm,mm= Scm S -« MN || PQ L}.’.LMN_‘J%J‘PJ{S: (i)
..u:/r)“dl_JJmm
In Triangle LMN shown in figure MN $G i miM = Sem, mLP = 2+5cm, miQ=2-3 ™

then find mﬁ. L




‘| LK.NO. 14 _Zw/ﬂr(f'«z_ ~9—/9

J:fl’ufyg(bwﬁl » ﬁ&qu‘?.ﬁ?ux 8cm o 6cm, 10 chﬂJJLUM Lol (i A (iii)
~e-brixc JHJ é) — r
If 10cm,6cm and 8 cm are the lengths of a triangle then verify that sum of
measure of two sides of a Triangle is greater than the third side.
a=9em, b =12cm,c = 15cm ¢ HiH2fF &, JQ/QA;.QYG{S)UFHJLHHL& (iv)
Verify that the Triangle having the following measures of sides are Right Angled.
a=9m, b = 12cm,c = 15em

LAl § xt e e Pl W)

Find the unknown value of " x" in the given figure.

6 cm 10 cm
x
Define the Interior of a Triangle. LIPS ) £ als (vi)
Define Altitude of a Triangle. Sy e LLUA £ ok (vii)
Find the Area of Rectangle from given figure, -qfr}“ o ¥ }V oy L A7 (viii)

e

6
mAB = 3cm, mAC = ZQ, mzA = 45° U:cﬂt.{hABC.‘-J" (ix)

Construct a Triangle ABC in whiég\ = 3cm, mAC = 3-2cm ,msA = 45°
%5@ (Part 11) po0
) x+ 2y =8 -4}’;:‘ Jodd £ 40 1 gl i () 54,
x-y =-1 b Oy w B
Solve the syst ?inear Equations by using Cramer's Rule. 3x ;' =1
@) If then calculate Z-Z i 27 oz - H:r /()
(4) Simplify with the help of Log Table. -’4-?’ e 4 Sl () 64,
(8:97)° x (3-95)°
S[15737
4)
-%}"’:—JJ a+b+c2nab+bc+ca=3 il a2+b2+c2 = 43 /' (.,)
If a2+ b + ¢ = 43 ‘and ab + bc + ca = 3, then find the value of a +b +c

(4) Factorize by Factor Theorem. xS - 4x2 +x+6 -@fr:"‘d )2’ = qu /?’J’/ () 7KU

(4) Find the Square Root by using Division Method : ..u_'/?)" BALie f-':z:ufg (<)
4+ 2553 12x- 20 + 16x3
(4) Solve the given equation. ‘g"‘ ‘%‘ Xz x * % LA L e () 8,7
(4) Construct Triangle PQR and draw its Altitudes. L UENAL S b PQR st )
mPQ =6cm » mQR = 4:5¢m mPR =5+5¢cm
8 u_rz.nﬁﬁwtu»fécumé.wu’ Iz{ar 94
Prove that the right bisectors of the :;c;es Cf a triangle are concurrent.

sy SO ISAP L Gieis o1 Bl £ Unkbidle S Sart
Prove that Parallelogram on the equal bases and having the same (or equal )

altitude are equal in area.
'y 'y —A-_/l rY



malniginaues

Paper | (Objective)

Time Allowed

Maximum Mar

20 Minutes

ks 15

ey

Session (2014 -16 ) to (2017 - 19)

SSC-A-2018 Group Ist | / % CASPY Ly
SSC (Part-1) é('/ < 20 =

15

bquilateral - Luswd- (1) Isosceles

R g
! -u_’;/c_ujg/ﬁ/.x’u.‘»‘f&wé.,.r:z.-./»a.._;w/’uéé.:&vﬁdlrﬁng'ﬁ-qéﬁé: 0.C.B A=Yzl vy igo |
] ~Srir b o RS SN e TS s omtie L |
: Note : Four possible choices A,B,C,D to each question are given. Which choice is correct , fill that circle in front of that question :
3 number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question, :
-
i
! {2 o T
i[i2 o] . — ; Y ] — S ] by 14
ilo 5| s called Matrix <~ e 0 J7 5 1/&)”’5
: Singular w»t (D) Unit  Jles () Scalar A¢ (B)  Zero (A) M i
i : : , 0
1~ 5 5 . : |
;l-xpullentlal Form of 7JT is : .. i (il g 7Jx— (2) :
: \4/- “)) \l/ ((’ *t (B) x (,\, s
' i
1 i - - g -
llugba X Iogcb can be written  as .;.D’L_'W g,(.v Iugba X lugcb (3) :
i
logbc (D) Iogab (€) logca (B) logac (A) : q
IThe Degree of Polynomial axt + szy S wowmn e ——— o ¥ ol s szy (?Jf:( @
i { :
| P33 v 2 B, 1A —
E'l‘he factors of x> - 5% + 6 are ngq@é x2-5x + 6 (5) |
\
: X+ 2,x%3 (D) xrb6,rx-1 () x-2,x-3 (B @,x-b(/\) !
) :
R 33 22 '
: H.Ol, of 5\2_\- and 2()x3y [T— & L & 200"y L 5xTyT UM (6)
' 2 55 Q 33 :
: Sxy (1) Sxy (€) 100x7y @@ 20x"y (A) i
: ¥ 4x < 11 .:.M//_‘ 1. .r;,':/ c.-,,fvfh’;u (7) :
1
:\\'hi\ h ol the I'ulluwing‘ i sulution of Ineguality . 11 :
1
14 '
: -3 (1) T () O’ (8) -8 (A) :
1
i ~ > ]
HE ix =1,y v Ly = {0, 0) . then PR S TS N2 o O N IR GRS RV IO TR (8) ]
)
. T N (1) < [ R ) By L, 1y (A ‘S
: Ihistance between poants (D 0 ang 1) ..’_.»lﬂbv-_/u..:. (T.1) . (0,0) b5 (9) :
) 1
: 2wy 2 © 1 (B) 0 _(A) .
i 1
. 1
:.‘\ Ray has  End Points S re o L (1)
1 A '
! None A (1) 3 W) 2 A (A) X
) yo - {
i 2o 0 o 0 »
: In Figure x5 = —emicoacs : pt X X = e £ (11) |;
| |
! ;|
’. 00° (o) 105 () 75Y @) 45° (a) :
!
| The Symbol is used for Line AB e Un e ud L AB (12) (o~
i —> —_ — ) o
: AB () AB () AB Bl ATB (A 'y
) : : !\
tbquality of «--— ratios is called | roportion uj#,—fb/ &d/.l/.uyuéuy‘."-«-— (13)
) , h
: LFive 5,; (D) Four /¥ (C) Three KL (B) Two 2 (A) ! ‘
1 [P ’ - \
! etn ¥ LTS 2825 ot SIS b w2 S (14) |
0 and b oare length and width of a rectangle then  area of rectangle is i
! A )
; a = b (1) a ax b () a- b (B) a+b (A)
{A Triangle having two sides congruent is called LJI}/ uxJ‘U’CU-"' n L ek &L (15)
I
i
|
|

,;"-'-'lr”fj!v‘ (C) Right Angle ::'/!:J"G (B) Scalene

Lusnil (A

.




| 60 AY #2102 | ssco(Part-1) | ssc-a2018 | (28D |

c.gﬂ(u/’-(—dzl!!/{/-ui/dﬁ"ﬂ (6-6)LJrsefd 3,2 /UVJ‘J:'J ( u“ﬂ )
-;,Lu/_e/_‘”r,fiu/Lu/:iul/U'r ) /QKJ']-;.J/US »'Ulf..ﬁ-./, Seirle Jl
Note : It is compulsory to attempt (6 -6) parts each from Q.No.2,3and 4. Attempt any (03) questions from Part Il while Q.No.9 is
compulsory, Write same Question Number and its Part Number as given in the question paper.
7

ra r
36=2x18 rMake diagram where necessary. -/ c.g’-.}’nduﬁut(. I | J”»" I

. - —_—_ —_ - A " "

Find the value of m and ¢ of the given lin +y-1= 0 by expressing it in the
form of y = mx + ¢ <

A(-8,1), B(6,1) -J/pPueboenl sinl s (vi)
Find the Distance between pair of A(-8,1),B(6,1)

A(2,-6), B(3,-6) Pzl ss i
Find the Mid - Point between the pair of points A(2,-6), B(3,-6)

What do you mean by S.5.5. & §.5.S. Postulate ? e e ¥ Aﬁr‘ SSSELSS i)
Define Bisector of an Angle. /JJ_VC -:IJ (ix)

If 3cm and 4cm are lengths of two sides of a right angle triangle, then what should
be the third length of the Triangle?

I Define Proportion. ..u_'f_é/‘lf.,/b' (ii)
Write down the formula of Pythagoras Theorem. UK ¢ sk i) q
Define Altitude or Height of a Triangle. -4.(41/7 S L6 ¥ ads (iv) T
| Define Centroid of a Triangle. -&;J VS K ads (v) \
Define Rectangular Region. -qf..J_J/J g Juﬁ;ﬁ»’ (vi)

mCA = 5-2cm, mBC = 4-2cm, mAB = 3-2cm .;-'V)\_[’hABC&l# (vii)
Construct a Triangle ABC in which m& = 5+2cm, mEE =4-2cm, mAB = 3*2cm

10 em ‘%)”""’:J "x " \ﬁfd{b (viii)

Find the value of " x" in the given diagram.

6 cm
x
. - . . [ ~ oF
Find the Area of the given diagram. ! S vaJ: (1x)
| ’ s
I
/)7 4ecm s 5

-~

‘i Define Diagonal Matrix. -é{ ..g/’ d’ LGS ) 24

[ 1 3 -

: Find the Determinant A= [ 2 -2 ] J,/r)"ﬁy (ii)

? Define Rational Numbers. -4{&/’ g,( el P (iii)

: Evaluate. ihU -J_/"(:“’_'—a_] (iv)

) -

| Express in Scientific notation. 49,800,000 el v

! s

: Find the value of " x ". log3x = S -4?)"‘_%{‘[ "X " (vi)

': Define Surd. _J_/_Q/J J Al (vii)

1 23 _4 -

i Xy -5z Q)’f)"‘:'{ix=4,y=-2,z=-1 /’l(vi')

1 xXyz 23 4

| . Xy -5z

1 If x=4,y = -2, 2 = -1 then find the value of —

i xyz

1 -

1 Factorize, 12x2 - 36x + 27 -V_’/df (ix)

1

' -,_'/()*'Jyf,.g,;_("w ¥ x2- 4, 5% vix +4 P32 ) 340y

1

! Find H.C\F. of the Polynomials by factorization : "2 2 + 4x + @@

)

: Solve the equation. Zx -3 -7 =0 O -é?{)' P (1)
Find the Solution Set of : |2x + 5| = 11 §> LI ) i)
Define Origin. -q/.g/’ J sl (iv)

-Q/r)";fl J c m»!&l_/;ru +c-f 3x+y-1=0 .-J:Vdnd: )

s S § G dlas 7 un ran 300l cuawé..u.,t)l.fm/ G afdr

Swp .S/

1
I
(
1
{
!
{
|
1
1
1
1
4

e s T PR R S —




e

- —

R -

Any point Equidistant from the End Points of a line segment is on the

right bisector of it
OR

-J’Uﬂ/.'-uj:.g-zuunf.ucw"ﬂ&:ul 2l unczh{wﬁ'gjb{lﬁu.‘?&&'
Triangles on the same base and of the same (i-e.equal ) altifude are equal

in area.

[STRATEE LS el JY §o | oW ),
. | N ——
S o o RSB PHSIPEISSUSS.... .. ... ST S SRS S R g -
!
In « 2v = 4 £ ” . - ) {
(4) Solve by Cramer's Rule. <X - < 4 -ér‘igfc.udu:‘ﬁ' ‘.iﬂ/ (i) :'\/,'U'r:
X+ 2y = 6 !
|
!
1/3 1 {
1/3 E /2 &
(4) Simplify 27 % (27) x (60) (L) 3
]
1/2 -1/3 1/4 I
(180) x (4) x (9) |
[
{
: |
(4) Use Logarithm table to find the value of : ..u:/{")l”':.f P Jfﬂﬁ () 6/:Ulr:
|
1
08176 x 13- 64 i
i
. 1 1
% -2,‘#:».:.-{@( x4+—14— s X+ =3 S :
' |
1
1 ., ,4 1 1
If x +— =3 then find the value of X *—4 !
(4) Factorize. 3 + 48x - 17x - @@ ~uf/("5f.~ (i) 7ﬁU’r
(4) 9x4 - 6x * 7x - @ -J/p“’(‘"fﬂud/b» () g
|
Find the Square Koot of following cxpﬁzb@b‘ Division Methaod :
3 :
9x - 6x7 + @ 2x + 1 ;
© ;
i
(4) Solve the following Ine ..L[/Tf’ f;,!;(/,;ﬁ_,fjbu (o)) 8/1)"’:
1
-5 < PR < 5
2 i
i
it ’
(4) S UL s U b POR &5 () :
mz P o= 105" & més Q = 30° ¢« mRR=48.6cm ;
Construct Triangle PQR and Draw Altitudes of  its Sides. !
1
mRP = 3.6em , msQ =30° and ms P = 105° 5
\
; f
(&) ._{ndb{...ﬁ-‘t wf L i ey ¥ om beligslea (s L vﬂﬂn’..f / Q/Jlrl
I




Paper | (Objective) SSC-A-2018 || ‘oroup 4ng | l NS s

Time Allowed @ 20 Minutes SSC ( Part-1) / & < 20

Maximum Marks : 15 Session (2014 -16) to (2017 -19) 15

1
: -v,/c,uvg/,wm;wgwg._,nf./uc.V.w,uéz__z_w_ iy g SE32- gL 5D,C.B Azl Jirg 1 Dy

E -fﬂ/ﬂw.‘.«liu)&u:w/:’gfa_f.gfaKLQ/JUJ/U.JLJ:,—('

{ Note : Four possible choices A, B .C. D to each question are given. Which choice is correct , fill that circle in front of that question

: number, Use marker or pen to fill the circles. Cutting or filling two or more circles will resut In zero mark in that guestion.

{

! - 2 6 .
E If ‘ i i = 0 then x is equal to : S 3 x i =0 /i :1ﬁU'!‘
q -9 (D) 6 ) -6 (B) 9 (A) M
. . e | T
The value of 1 is -1 (D} 1 (<) -1 (B) 1 (A} . <:...:»Af Jl : (2)
If a' = n, then ma =n /I (3)

a = lognx (D) x = Iogna ) x = Iogan By a = logxn (A)

:’(\F-T + \IF)(J_.{ - \rb-) s equal o - Do il (JT* \[T)(\fa_ - ﬁ) (4)
5 i+ b (D a-b (O at-br (B at+p’ (A)

| a ~ "
: (2..&3&-5/',)( x© + dx + m 2_4/.;4",;/ "m" (5)
1

(Find " m " so that x>+ 4x v m s a complete square
1

! 1t (D) 4 () (B) :

i The Square Root of aZ.2a+ 1 is ; @ & d)'uv g a - 2a + 1 (6)
1 i

a+ 1 (L) a-1 % By + (a~1) (A)

x = 0 is a solution of Inequality : LJ?(«-Z{UPLQ'J[/A; x = OI (7)
: x-2 <0 () X+ O\ 3x 5 <0 (B) x >0 {A) » o
1 - !

If y =2x+1, x =2 then G 4z y Sty =2x+1,x =2 A (8)

4 (S 3 (,B) 2 ™

A Triangle having all sides equal is called : q..dl.lf( nsls JHJCU-’UZLJ&U‘J 9)

: None of these Jl’)o:’(;.gﬂul (D) l.-'quilatemt WUIU':L/ (©) br‘alenc Luam..»@' (B) lsosceles u"\)’dyt/ (A) :
{A Ray has End Points : ST, PN L ..f' (10)
:? No End Point  En BB MW) 3 | ) R VABY 2 (A
i - TP Paratlelogram , opposite angles are «S=s UL mmeen %;'JJL?JLC,L?UUJ‘? (11)
¢f Non - Congruent JL?‘/_,; (L)  Concurrent Iﬂlf (Cy  Parafl¢l  Ji# (B) Congruent JALP (A)
3(@11 Angle means Angle measure n v‘"’(\)rv')'a.,::-‘) 0ol e iFE L (12)
! 80° o 9® © 6° B 307 (A)
‘b) wbol used for Similarity is ~e—mmes : ; ?&n;}p’ e 2B LS (13)
. ;
g B = & = 8 c0 |
{ Area of given Figure i§ ------- 8 cm I A y\f(d" (14)
Y 4 cm / i
( { X—-]
: e Y UV
[
! 2 43 . 2 . 2 b
{ 12Zem” (D) 32em” (C) Bem {B) 4cm”™ (A)
!
1 s
iThe Medians of a Triangle cut each other in the Ratio ----e-e vood g_‘{[._/(ﬂﬁ:.-af' ------- :Q../».fl Gl st (15)
1 1.1 (D) 1:3 (€ 1:2 (B 1:4 (A
L e ﬁ"{‘( s e — Y. 0 1o

B e Tmen B b bt S b e A R :
— .
o . = - . w0 )
- - S eyl
—— &SR =
o gl LSlebap 3 = S R—




. SR
36=2x18 [ Make diagram where necessary. L hgf\f’xdn/blﬁj { J,l)} !
: i SRR |

T -7~

r

T
S e e T Y T S Y ot o W

l UM S - e &V l R Bt g T YN S R A | 1 - T b Y | -

e Lt Sy fe 2l 21 (6-8) L e 403, 2 A e ( =Ll }
. . . . <,
-cl..bu_;.;.;.girfﬁq /Z-,u/-,‘: 2l Ay S ,;Qb’\}!i.,q_ 9 Al /U'.:. Ulrwfc_ of

Note : It is compulsory to attempt(6-6) parts each from Q.No. 2,3and 4 Attempt any (03] questions from Part Il while Q.No9 is
compulsory. Write same Question Number and lts Part Number as given In the question paper.
s |

- T .

- # :
Define Scalar Matrix. c{ O LT AT ) 2/ |
3 2 . -
Find the Determinant D= [ 1 4 ] \,f/f)"‘g‘f” (11)
. TN IP I |
Defue lrrational Numbers. -’44/" o sl t{ (1) i
B .3 2 2 kg, B
Use laws of Exponents to Simplity : [thy 4)(~Bx J.\;-) _u:/;"}c-.x,-dfaff;’c’_v';.«:’ ty) !
1 =
Express in Scientific notation. 83,000 -Z’;,"'\_,i(EQq";f (v} :
-2 - )
Find the wvalue of " x " . lung = 3 -:iF‘;"’_-,ng "X MUVl :
Define Monomial Surd. 4 -L[/..’g/’ J (’l/l)@/..._f (vii)
Ui ab i atb =5, a-b =T [ g
If a+b =25, a-b = J17 , then find the value of ab.
Factorize. '128an12- 242an2 _J_/df (ix)
r . i
Define Highest Common Factor (H.C.F.). Eu 8 Al ) 3Ar
Solve the equation. x -3-7=20 -4{)’/:.'» (ii)

Solve. '%“3x v2| -4 =1 ﬁ@ 4:)’ (iii)
S YUl A@ T3, B(3,-4) 36L& (iv)

Find the Mid Point between the given pairs of points ﬁﬁi- 11), B(3,-4)
-éf;:“’.uf\;c»‘mﬁél.)@g +cf 3-2x+ y = 0 =hbr (v)

Find the value of m and ¢ of the equation 3% = 0 by expressing it in the form

of 'y = mx t ¢ @ !
Draw the points (-3,-3),(-6,4) on G 'aper./ -@5;&5,;@_)'/’ / (-3,-3),(-6,4) bW (vi)
cdekdeigendl A3, -11), B(3,-4) pel s (vi)
puintsA(R,-ll),15(3,-4) . i
JElsrr S ) ’
Define Parallelogram. &/ § L g v
Define the Right Bisector of a Line Segmient. LIPSl (i) 4Ny
O Selne S -u;u:fugyJam:Lw{ 7e¢m sl 4em, 3 cm (i)
3cm, 4 cm and 7 em are not the lengths | of the Triangleh Give the reason.
Define Congruent Triangles. sy JCESE i) ,
a=5cm,b=12cm, esBem /828 q/@ﬂ.@d’d;ugutfcwéw (iv) !
Verify that the given measures of sides”‘of “a Triangle is a Right Angled .

o

Find the Distance between the

State S.5.S. Postulate.

a= 5em, b=12cm, ¢ = 13cm

A S e Lkl (v)

Define the Rectangular Region.

Define Centroid of the Triangle. sy J npFlas (vi)
mAB = 3cm, mAC = 3+2cm, mZLA = 15° AL WABC L (vil)

Construct a Triangle ABC in which mAB = 3 cm, m/-iE = 3+2cm, ml A = 450

e . -

Find the value of " x" in the given figure. . 13 em -%}“’—'—-{'5 Vi * LJ:LPJJJ (viid)
5cm
Find the Area of the given figure. _J_,f()”'.}) ¥ J"G{L (ix)
4 cm
' 4 cm pomsmsion B ey E
L P.T.O. |
 S—




|

e o S T o o S S P P ey .~ S P A P

", s | s i i e

P—

- S - = T - - " -‘_m"‘_‘_:n:‘_*'-w

3x - 2y

= 7] .
) S2x+ 3y = 2 e aluds £ 4SS Ui sy
_ . _ 3x - 2y =1
Solve the given equations by using Cramer's Rule.
~2x+ 3y = 2

21 2m 2n .
(4) Simplify (a|+m) (amm) (awl ) _4;3 (&) .
a a a :

. Lo
(4) Use log table to find the value of : _L[/(;"’;:d_’ o sa L,('_}":f’;{) 650
{
0-678 x 9. 01 f
1
00234 ;‘
~ . . ‘ I

(4) -égir}"-:«éu/ % 4 —% Je X+ =8 PRS2

x !

3.1
If X -{--)l? = 8§ then find the value of X *—3
X

(4) Factorize. 8x> + 60X + 150x + 125 @® LG 1Ay
@) G B € 6 + 12y §OF L6x + 2y + 16 Sk ()
<&

Use Division Method to find the Squa%@ of

o + 12xy + @6x+24y+16

(4) Solve the following Equatidn SIS S el it i 8480y

x+%-=2(x--§-)-6x

) -fwtéu@l}éw Ll ABC &5 ()
mAB = 4.2cm, MBC = 6¢m, mCA ="5.2cm
Construct a Triangle ABC and draw.-the Bisectors of its angles.

m;\_l—3= 4.2cm,m-§6= 6cm, mCA = 5.2 cm

- e bW UL B L gt s St o

Prove that any point on the Bisector of an angle is equidistant from its arms,

OR

-Jun‘:!/.d.}'mun/.uc%l 23! ;xG’LJU:"wJ." .fJ_zC:/.b ‘

U —

Prove that Triangles on equal bases and of equal altitudes are equal in area.

T P ppe—




